9	FOREST PARK 2021 STREET PROGRAM CITY OF FOREST PARK, OHIO PROJECT #: 210070 architects planners BID TABULATION		RACK & BALLAUER		JOHN R. JURGENSEN		J. K. MEURER*		BARRETT PAVING MATERIALS			
Item No.	Spec. No.	ITEM	Est. Qtys.	Unit of Measure	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost
		Crest (Hamilton to Reliance)										
1	253	PAVEMENT REPAIR, AS PER PLAN	71	SY	\$58.00	\$4,118.00	\$85.00	\$6,035.00	\$60.00	\$4,260.00	\$115.00	\$8,165.00
2	254	PAVEMENT PLANING, ASPHALT CONCRETE	3,590	SY	\$3.50	\$12,565.00	\$2.65	\$9,513.50	\$2.50	\$8,975.00	\$3.25	\$11,667.50
3	SPL	TACK COAT, TRACKLESS TACK	359	GAL	\$2.50	\$897.50	\$4.60	\$1,651.40	\$7.00	\$2,513.00	\$3.00	\$1,077.00
4	411	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, PG64-22 (448) (1-1/2")	157	CY	\$192.00	\$30,144.00	\$185.00	\$29,045.00	\$207.00	\$32,499.00	\$229.50	\$36,031.50
5	448	ASPHALT CONCRETE, MISC,; ASPHALT REJUVENATING AGENT	3,590	SY	\$1.00	\$3,590.00	\$1.30	\$4,667.00	\$1.10	\$3,949.00	\$0.95	\$3,410.50
6	632	DETECTOR LOOP (INSTALL PRIOR TO SURFACE COURSE)	1	EA	\$3,000.00	\$3,000.00	\$5,250.00	\$5,250.00	\$2,500.00	\$2,500.00	\$3,840.00	\$3,840.00
7	632	LOOP DETECTOR TIE IN	1	EA	\$105.00	\$105.00	\$360.00	\$360.00	\$500.00	\$500.00	\$750.00	\$750.00
8	614	MAINTAINING TRAFFIC	1	LS	\$4,700.00	\$4,700.00	\$6,000.00	\$6,000.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00
	SUBTOTAL - Crest (Hamilton to Reliance)					\$59,119.50		\$62,521.90		\$58,196.00		\$65,941.50

1 253 2 254 3 SPL 4 411	Lincolnshire (Waycross to Kingsbury) PAVEMENT REPAIR, AS PER PLAN	Est. Qtys.	Unit of Measure	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost			
2 254 3 SPL	PAVEMENT REPAIR, AS PER PLAN	152						Total	Item Cost	Unit Cost Total	Item Cost
2 254 3 SPL		152									
3 SPL	DAVENATALE DI ANINICI ACDILALE CONCRETE		SY	\$58.00	\$8,816.00	\$85.00	\$12,920.00	\$60.00	\$9,120.00	\$115.00	\$17,480.00
	PAVEINIENT PLANTING, ASPHALT CONCRETE	7,632	SY	\$2.30	\$17,553.60	\$2.65	\$20,224.80	\$3.00	\$22,896.00	\$3.25	\$24,804.00
4 411	TACK COAT, TRACKLESS TACK	763	GAL	\$2.50	\$1,907.50	\$4.60	\$3,509.80	\$7.00	\$5,341.00	\$3.00	\$2,289.00
	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, PG64-22 (448) (2")	445	CY	\$174.00	\$77,430.00	\$185.00	\$82,325.00	\$207.00	\$92,115.00	\$229.50	\$102,127.50
5 448	ASPHALT CONCRETE, MISC,; ASPHALT REJUVENATING AGENT	7,632	SY	\$1.00	\$7,632.00	\$1.30	\$9,921.60	\$1.10	\$8,395.20	\$0.95	\$7,250.40
6 611	STORM MANHOLE ADJUSTED TO GRADE, STORM SEWER MANHOLE ADJUSTED TO GRADE WITH PRECAST CONCRETE RING, LABOR AND MATERIAL	2	EA	\$910.00	\$1,820.00	\$1,200.00	\$2,400.00	\$2,000.00	\$4,000.00	\$475.00	\$950.00
7 SPL	SANITARY MANHOLE ADJUSTED TO GRADE, SANITARY SEWER MANHOLE ADJUSTED TO GRADE WITH PRECAST CONCRETE RING, LABOR AND MATERIAL	2	EA	\$910.00	\$1,820.00	\$1,200.00	\$2,400.00	\$2,000.00	\$4,000.00	\$475.00	\$950.00
8 614	MAINTAINING TRAFFIC	1	LS	\$5,700.00	\$5,700.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$1,000.00	\$1,000.00
		1	l		\$122,679.10	1	\$139,701.20				

	FOREST PARK 2021 STREET PROGRAM CITY OF FOREST PARK, OHIO PROJECT #: 210070 BID OPENING: JULY 20, 2021 @ 11:00 am BID TABULATION			RACK &	RACK & BALLAUER EXCAVATING		JOHN R. JURGENSEN		J. K. MEURER*		BARRETT PAVING MATERIALS	
Item No.	Spec. No.	ITEM	Est. Qtys.	Unit of Measure	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost
	Oakstand (N. Cul-de-sac to S. Cul-de-sac)											
1	253	PAVEMENT REPAIR, AS PER PLAN	90	SY	\$58.00	\$5,220.00	\$85.00	\$7,650.00	\$60.00	\$5,400.00	\$115.00	\$10,350.00
2	254	PAVEMENT PLANING, ASPHALT CONCRETE	4,522	SY	\$2.90	\$13,113.80	\$2.65	\$11,983.30	\$2.50	\$11,305.00	\$3.25	\$14,696.50
3	SPL	TACK COAT, TRACKLESS TACK	452	GAL	\$2.50	\$1,130.00	\$4.60	\$2,079.20	\$7.00	\$3,164.00	\$3.00	\$1,356.00
4	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, PG64-22 (448) (1-1/2")	197	CY	\$180.00	\$35,460.00	\$185.00	\$36,445.00	\$207.00	\$40,779.00	\$229.50	\$45,211.50
5	448	ASPHALT CONCRETE, MISC,; ASPHALT REJUVENATING AGENT	4,522	SY	\$1.00	\$4,522.00	\$1.30	\$5,878.60	\$1.10	\$4,974.20	\$0.95	\$4,295.90
6	614	MAINTAINING TRAFFIC	1	LS	\$3,700.00	\$3,700.00	\$6,000.00	\$6,000.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00
	SUBTOTAL - Oakstand (N. Cul-de-sac to S. Cul-de-sac)					\$63,145.80		\$70,036.10		\$68,622.20		\$76,909.90
	Karahill (Lincolnshire to Kemper)											
1	253	PAVEMENT REPAIR, AS PER PLAN	96	SY	\$58.00	\$5,568.00	\$85.00	\$8,160.00	\$60.00	\$5,760.00	\$115.00	\$11,040.00
2	254	PAVEMENT PLANING, ASPHALT CONCRETE	4,833	SY	\$2.30	\$11,115.90	\$2.65	\$12,807.45	\$2.50	\$12,082.50	\$3.25	\$15,707.25
3	SPL	TACK COAT, TRACKLESS TACK	483	GAL	\$2.50	\$1,207.50	\$4.60	\$2,221.80	\$7.00	\$3,381.00	\$3.00	\$1,449.00
4	411	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, PG64-22 (448) (1-1/2")	211	CY	\$177.00	\$37,347.00	\$185.00	\$39,035.00	\$207.00	\$43,677.00	\$229.50	\$48,424.50
5	448	ASPHALT CONCRETE, MISC,; ASPHALT REJUVENATING AGENT	4,833	SY	\$1.00	\$4,833.00	\$1.30	\$6,282.90	\$1.10	\$5,316.30	\$0.95	\$4,591.35
6	614	MAINTAINING TRAFFIC	1	LS	\$3,700.00	\$3,700.00	\$6,000.00	\$6,000.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00
	SUBTOTAL - Karahill (Lincolnshire to Kemper)					,771.40	\$74	,507.15	\$73	,216.80	\$82	,212.10

G	your trusted advisor CONSULTAINTS engineers architects planners BID OPENING: JULY 20, 2021 @ BID TABULATION			ARK, OHIO #: 210070	RACK & BALLAUER EXCAVATING		JOHN R. JURGENSEN		J. K. MEURER*		BARRETT PAVING MATERIALS	
Item No.	Spec. No.	ITEM	Est. Qtys.	Unit of Measure	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost	Unit Cost Total	Item Cost
		Hanover (Northland to Embassy)										
1	253	PAVEMENT REPAIR, AS PER PLAN	101	SY	\$58.00	\$5,858.00	\$85.00	\$8,585.00	\$60.00	\$6,060.00	\$115.00	\$11,615.00
2	254	PAVEMENT PLANING, ASPHALT CONCRETE	5,094	SY	\$2.70	\$13,753.80	\$2.65	\$13,499.10	\$2.50	\$12,735.00	\$3.25	\$16,555.50
3	SPL	TACK COAT, TRACKLESS TACK	509	GAL	\$2.50	\$1,272.50	\$4.60	\$2,341.40	\$7.00	\$3,563.00	\$3.00	\$1,527.00
4	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, PG64-22 (448) (1-1/2")	222	CY	\$175.00	\$38,850.00	\$185.00	\$41,070.00	\$207.00	\$45,954.00	\$229.50	\$50,949.00
5	448	ASPHALT CONCRETE, MISC,; ASPHALT REJUVENATING AGENT	5,094	SY	\$1.00	\$5,094.00	\$1.30	\$6,622.20	\$1.10	\$5,603.40	\$0.95	\$4,839.30
6	614	MAINTAINING TRAFFIC	1	LS	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00
	SUBTOTAL - Hanover (Northland to Embassy)					\$69,828.30		\$78,117.70		\$76,915.40		\$86,485.80
		TOTAL BASE BID		\$378,544.10		\$424,884.05		\$428,817.60	428,817.60			